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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

Write the number _§689 correct to the nearest thousand.

> 5000 ..

round. LR
(Total for Question 1 is 1 mark)

WorkoutM = L—t‘?——' = CH—_;'%'; 61\6
543 13

l
Work out the reciprocal of 0.125 & /8'

T

ool | —
A = 0 - g % ..........................

(Total for Question 3 is 1 mark)

Here is a list of numbers.
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(Total for Question 4 is 2 marks)
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5 There are 1.5 litres of water in a bottle.

There are 250 millilitres of water in another bottle.

<

g Work out the total amount of water in the two bottles.

e 7

z .54 = 1500ml

z 71

; E : x\006 ) |
E UX\LkS c
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(Total for Question 5 is 3 marks)

6 Here is a trapezium.

This diagram is accurately drawn.
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(a) Measure the length of the line PQ. 8

Use. nphor

(b) Measure the size of the angle marked x.

le povadoc 3D °

%
&:‘
25

(Total for Question 6 is 2 marks)
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7 (a) Solve _f+gftf=20
4\% =10
\IY—:“LI.S f= S

M
(b) Solve 18-m=6
12-m26
1% :wém
e 12
\'L: N\ m=....34 & (]) .....................

(c) Simplify d?xd?

_ ¢2*3 _ A/S dvs

(Total for Question 7 is 3 marks)

8 Jayne writes down the following

3.4 x53=180.2

Without doing the exact calculation, explain why Jayne’s answer cannot be correct.
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9 The two numbers, 4 and B, are shown on a scale.

The difference between A4 and B is 48

Work out the value of 4 and the value of B.

NOT WRITE IN THIS AREA
h ;ii"

'DONOTWRITEINTHISAREA

10 Complete this table of values.

Ax12 +7L
12 3% -6 42

s
=
i

o5
R
B

ant) = 47
~ 2 IS 47

S
-
oy
il
=
n

55

5
553

=3
n= 15

(Total for Question 10 is 3 marks)
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11 The same number is missing from each box.

x x =343

(a) Find the missing number.
somt > ¢ ° = D43
N\ml\w 3\]—‘
x= 7T -

(b) Work out 4*

hx4gxagx4 =

d
Ex 15¢

. Catoularor

(Total for Question 11 is 2 marks)

12 Here are two numbers.
29 37

Nadia says both of these numbers can be written as the sum of two square numbers.

Is Nadia correct? \[QS |

You must show how you get your answer.

29 = 95+4 , 26=5% and 4=2°
37 = 36+l 36=6" and |=1°
Both aumoess can e written as the Sum of 25quares

(Total for Question 12 is 3 marks)
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13 Here are the first three terms of a sequence.

| -6 £

< N

E 32 26 20

L

% Find the first two terms in the sequence that are less than zero.

E 20 -6 = 14

= 14-6 = <

e % ”6 = 2, _ _
= 2~6 = -4 1 I\_Q,S(XEVQ :(l)QSS .............. Lt ................... IO ..........
R - . ~ NOIN

g Lk é - \0 j (Total for Question 13 is 3 marks)
G

14 Here is a triangle ABC.

C = B

(a) Mark, with the letter y, the angle CBA.

T ,
8 \ntne middle

1)

Here is a cuboid.
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F E

Some of the vertices are labelled.

(b) Shade in the face CDEG.
1)

(¢) How many edges has a cuboid?
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15 There are 5 grams of fibre in every 100 grams of bread.

A loaf of bread has a weight of 400 g.
There are 10 slices of bread in a loaf.

Each slice of bread has the same weight.

Work out the weight of fibre in one slice of bread.

brg. looﬂmad I
L &
> 209 fire: 4 brand
203 - 108h@s
= lyperde .

(Total for Question 15 is 3 marks)
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16 Give an example to show that when a piece is cut off a rectangle the perimeter of the new shape

(1) is less than the perimeter of the rectangle,

ek o
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(11) 1s the same as the perimeter of the rectangle,

/// ket t

7

(ii1) is greater than the perimeter of the rectangle.
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(Total for Question 16 is 3 marks)
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17 ABC is an isosceles triangle.
When angle 4 = 70°, there are 3 possible sizes of angle B.

a at are they? dto
(GDWh Pf(\ﬁlcg/y A= Iﬂrf\\(jlz B F0=70 Ve wg(ﬁgﬁ n |

A Hriangle
@) fre = fngl C frge b= 180770 5040 J

@ ﬂ'ﬂ(a [ Aﬂﬂ&(

-30 . 0
{f-80FC - 55 40 . 40 - 55 -

When angle 4 = 120°, there is only one possible size of angle B.

(b) Explain why.

noethan 190 Hence aﬂ\ﬂ(xLB\s%m ....... bas ecuﬂ((zdwhlmon ..................
ns 1 vale of 26° W

(Total for Question 17 is 4 marks)
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18 In a breakfast cereal, 40% of the weight is fruit.
The rest of the cereal is oats.

E (a) Write down the ratio of the weight of fruit to the weight of oats.

= Give your answer in the form 1:n. ~ ,}:5

e o o o

E 0 40/ 607

& ~40(__ D40
s Lo
o 2

8 ( )

A different breakfast cereal is made using only fruit and bran.
The ratio of the weight of fruit to the weight of bran is 1:3

(b) What fraction of the weight of this cereal is bran?
32 4 pouts in totad 3
S P are ban B

(1)

(Total for Question 18 is 3 marks)
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19 Boxes of chocolates cost £3.69 each.
A shop has an offer.

Boxes of chocolates

3 for the price of 2

Ali has £50
He is going to get as many boxes of chocolates as possible.

How many boxes of chocolates can Ali get?

oxes cost 1 3-69x2 = £7-38
£50 = £33%= 6735, <o an buy £ sebs of Jbares
T . 6x7223% = U4.9%

(oSS -
Hehas 50~ 44.28 = £5.7 k.
Se W can buﬂ anolnor ex (436 0\)

6x + 1\

i)

(Total for Question 19 is 3 marks)
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20 £=1{1,2,3,4,5,6,7,8,9, 10}
A = {multiples of 2}

5| 4nB={26

::Et:: AuB=1{1,2,3,4,6,8,9, 10} é,*W\' -'3(6(&
7

: E : Draw a Venn diagram for this information.
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(Total for Question 20 is 4 marks)
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21 The scatter diagram shows information about 10 students.

For each student, it shows the number of hours spent revising and the mark the student
achieved in a Spanish test.
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One of the points is an outlier.
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(a) Write down the coordinates of the outlier.
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For all the other points

(b) (1) draw the line of best fit,

(i1) describe the correlation.

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Positive coreedakion

(2)
A different student revised for 9 hours.
8 (c) Estimate the mark this student got é’
o (M

The Spanish test was marked out of 100
Lucia says,
“I can see from the graph that had I revised for 18 hours I would have got full marks.”

(d) Comment on what Lucia says.

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, rwﬂ3@o _dokd Sothis S wwehable o

1)

(Total for Question 21 is 5 marks)

%

22 The length, L cm, of a line is measured as 13 cm correct to the nearest centimetre.

S
S
R

<
<

Complete the following statement to show the range of possible values of L

e i LS
cange @ TN
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(Total for Question 22 is 2 marks)
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23 Line L is drawn on the grid below.
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Find an equation for the straight line L. (— jnter(g,lo{? =
(O,

Give your answer in the form y = mx + ¢
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(Total for Question 23 is 3 marks)
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24 Jenny works in a shop that sells belts.

The table shows information about the waist sizes of 50 customers who bought belts

E from the shop in May.

o

% Belt size Waist (w inches) f\,dgowtFrequency T x m,dpylj')b
= Small 2<w<32 3D 24 =70

i TV

g Medium 32<w<36 34 12 L[-O&

; Large 36 <w<40 3R 8 204

(;) Extra Large 40 <w< 44 92 6 29 Q

a 50

(a) Calculate an estimate for the mean waist size.

| Man= = widgoinkage. = 590+ 40g+304 +352

)
o>
oA
=
\J

?)%é 81'1’\

3 ...................................................... inches
<
o . :
%’% Belts are made in sizes Small, Medium, Large and Extra Large.
Sin
:}}fé;; Jenny needs to order more belts in June.
;}f;igi:o The modal size of belts sold is Small.
o .0’
2 Jenny is going to order % of the belts in size Small.
The manager of the shop tells Jenny she should net order so many Small belts.
(b) Who is correct, Jenny or the manager?
You must give a reason for your answer.
2 ‘
=075 Fodionot _ 14 _ 4.4
4 =1 - 8
Smad
bR 30
/ 14
AAAAAAA | Mmanagﬁfnscomctb%<o7‘5km\ﬁwowdb€
.............. Ofdﬂ!\vg%oomm\ijetﬁ
(Total for Question 24 is S marks)
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25 The diagram shows part of a wall in the shape of a trapezium.

1.8 m

|

0.8 m

o

2.7m

Karen is going to cover this part of the wall with tiles.
Each rectangular tile is 15 cm by 7.5 cm

) \
Tiles are sold in packs. O-15m O-B3mM
There are 9 tiles in each pack.

Karen divides the area of the wall by the area of a tile to work out an estimate for the
number of tiles she needs to buy.

(a) Use Karen’s method to work out an estimate for the number of packs of tiles she
needs to buy.

Area of wakk =11 8+21-3)x0-8 = | Im”
2

Araof 4 tile = 015 052 0-01125m”

Tes naeded © _U8m* [0 Eiles
0- 0125
160 - 3.3 - nwmber op Packs rexdled
A |
rownd WP
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Karen is advised to buy 10% more tiles than she estimated.
Buying 10% more tiles will affect the number of the tiles Karen needs to buy.

She assumes she will need to buy 10% more packs of tiles.

(b) Is Karen’s assumption correct?
You must show your working.

O wnomgase. = 1007 +107/- = 1107+ =X Il Ul pleer
. ) 136 - 198 % 70 pucks
- [ 1x 160 = 176 tiles nooded e P,gmed
1 L Ix 1€ = 98 packs
""" 14-Q # 20  Karen is incomect @

(Total for Question 25 is 7 marks)
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NOTWRITEINTHISAREA

26 Factorise x>+ 3x—4
kil o =t T+4 -
add. 2 J

(Total for Question 26 is 2 marks)
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27 Here are the equations of four straight lines.

LineA y=2x+4 M= o~ “—
LineB 2y=x+4 =X+1 ms =
LineC 2x+2y=4 4= 1-X mx -
LineD 2x-y=4 2X714-= M= _

Two of these lines are parallel.
Write down the two parallel lines.

3:“’\_2(. +C

porallel means 1S the same,
Line ... A‘ .......... and line‘...D .................

(Total for Question 27 is 1 mark)

28 The densities of two different liquids A and B are in the ratio 19 : 22
o Densitus Mass
The mass of 1 cm® of liquid B is 1.1 g. ANSUY= Vol
5 cm?® of liquid A is mixed with 15 cm® of liquid B to make 20 cm?® of liquid C.
Work out the density of liquid C.
B . Oensipy: Ll = Vg
— )
Mass = 1-1x15 < \e-ﬁj

. , i YO
Ao 0@1\3\%: % X1l :.o~cl63/cm3

Mass of A =O-Q5X6:4-453
Densibyog |65+ 435 ™mms ) og9s

— T

| 5 +6 N Tota) bl (Total for Question 28 is 4 marks)
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TOTAL FOR PAPER IS 80 MARKS
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